ESpBEREESILTSY H-E O

[1] B #h #f = [5] & & & B =
BRI | RRHUBSXESL B 528 % 1,000 J5M
WEE | 25286 m | B R | 25286 nf | BEES 400 m B A & | (1B&E2E151165M8 — B2&$10005M8) = 14116 B
MRl | TSt | SEHIR | SoESEMK | PSWISE | ERWiE
BALE 80 % | &% 240 % | B K | AHFK = 5t 14,116 B
HEEE | 20228 ni | FEEW | 60686 m | A R | BHEHR j

[6] X X tb B8 =%

[2] IR E T 5 vV = & = &
BB | SBIVOU-bB | B oM | 3R REEE | 19176 ni R & I A 104 7 1248 M
MAREIE | 20228 i | SWEEE | 34531 i | BIRER | 4595 W B g n A 0 BM 0 BM
B = 15 1 6 | 86 15 & NEEL 104 M 1248 M

1K (AS1T) 8 = 2355 ni R A & & 936 BM 11232 M
\ 1K (BHAT) 4 = 2311 i {5 14,116 5
BEAT [ e I [ S B A % #
1LDK(CHA T 1 = 4742 & % AR 30 &
£ LSS 1 = 2355 ni "% & & 674 FH 8088 M
e Xlewmwm e 1092 75 13104 7
[3] K & &2 ® e
- - : R | BREERLE 208 BH 2496 M
ERST g SETEXMYNEYN | RED
5 B & 104 M 1248 FM
ADAT 8 = 80 5 640 M .
EIEEEY —— 5ME —— 5ME
BS 1T 4 = . 75 BM 300 M -
AR 8144 BM 97728 BM
5 Uise 1 = 100 5Mm 100 M . - . s
- WASEH — ZhEE WASEH — ZhEE
5 & 1040 FM | % = @
1216 5H 14592 M
[4] REFFEER (BE) EERIER S KERADT10%
A I S® | (EBHET7IFM X BIKBHRAT302W) = 126962 5 gmiss /1 BREAER + SmEtEh
RUBETEER / (TS®W1285088 X 60% X 14%) = 107.945M4
ST EH 1538 M | | |
TE&s 12,8500 5 ) BIESERGTDER
RUHHHER ~ (TS®W1285058 X 60% X 03%) = 2313 5H
| |
I
BT 0040 75F SRR DER
— — — BEEEIS S RERAD2%
%= @ ™| (ISESH128505M X 005) = 6425 5 E B W/ BREADI%
0 14,3965 M BEEXE S FEWAD %
W' ® 7198 5M
= 151163 M
RERE | (1,1235M/15.1165M)-6.6%X0%+034%X4%)-3% = 069%




